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उ�र कंुजी 
 
 
            

 

1.     ,             , 
      (  )      ,     
    ? 

   () 

 After Shivaji’s death, effective power in the Maratha state was wielded by a family of 
Chitpavan Brahmanas who served Shivaji’s successors as Peshwa (or principal minister), 
which city became the capital of the Maratha kingdom ? 

  Poona (Pune) 

2.    “”      , “”    ? 

   

 Mahavir Swami became known as “Jina”, what does “Jina” mean ? 

  The Conqueror 

3.          ,         
                  ? 

   

 As mentioned in Asokan inscriptions, there were five major political centres in the Mauryan 
empire including the capital Pataliputra and other four provincial centres. Which among the 
following was not the provincial centre ? 

  Indraprastha 

4.              ? 

     

 Rigveda contains dialogue between a sage named Vishvamitra and which two rivers ? 

  Beas and Sutlej 

5. 1722 , _____           

   

 In 1722, the subadari of ___ was given to Sawai Raja Jai Singh. 

  Agra 
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6.                   
    “                
  ” ? 

    
 Who among the following had exhorted his colleagues to realise that the Constituent 

Assembly was British-made and was “working on the British plans as the British liked it 
to be worked out” ? 

  Somnath Lahiri  

7.                   
          ? 

    
 Chittaranjan Das & Motilal Nehru had formed which of the following political parties 

within the Congress to argue for a return to council politics ? 

  Swaraj Party  

8.                 - 
                ? 

   
 Where was the session of the Congress had taken place in which Mahatma Gandhi 

convinced other leaders about the need to start a non-cooperation movement in support 
of Khilafat as well as swaraj ? 

  Calcutta 

9.     “ ”             
 ? 

      

 Who among the following was the founder of the “Khudai Khidmatgars” and is also 
known as Badshah Khan ? 

  Khan Abdul Ghaffar Khan 

10. 1913       ________    

    
 The Hindustan Gadar Party’s headquarter was located at ____ in 1913. 

  San Francisco 

11.  () /              
/  ? 

   
 Shirui (Siroy) Lilly is the only terrestrial Lilly found in which of the following states of 

India ? 

  Manipur 



 

 3 MN2_4923 

12. “ ”           ? 

   

 “Oriya Plateau” is situated in which of the following states of India ? 

  Rajasthan 

13.               ? 

  -  () 

 What causes rainfall on the coastal areas of Tamil Nadu in the beginning of winters ? 

  North-Eastern Monsoon 

14.            ? 

    ()  

 Which type of granite is found in Jalore district of Rajasthan ? 

  Rosy Pink Granite 

15.            /     ? 

    

 Bandel Church constructed by Portuguese is located in which of the following 
states/UTs of India ? 

  West Bengal 

16.       (FRP)     ? 

       

 Who approves the Fair and Remunerative Price (FRP) of sugarcane ? 

  Cabinet Committee on Economic Affairs 

17.              ,   “ 
  ”(  )    ? 

         

 Which of the following is an Indian Labour Law and Social Security measure aimed at 
guaranteeing the “Right to            work” ? 

  Mahatma Gandhi National Rural Employment Guarantee Act 

18. “ ”               ? 

   
 “Golden Revolution” is responsible for the development in which of following 

agriculture sector in India ? 

  Horticulture 

19.          ? 

   

 Where is the head office of Insurance Regulatory & Development Authority located ? 

  Hyderabad  
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20.             ? 

   (NABARD) 

 Which of the following is not a type of Depository Institution ? 

  NABARD 

21.   , 1947             
    , 1935        1947  1949  
  ? 

   100 

 With the passing of the Indian Independence Act 1947 India became a Dominion and 
the Dominion Legislature made laws from 1947 to 1949 under the provisions of which 
section of the Government of India Act 1935 ? 

  Section 100 

22.        ,             
     ? 

  6  
 A person who is not a member of Parliament can be appointed as a Minister by the 

President for a maximum period of how many months ? 

  6 months 

23.      ,          
    

     

 Name the high court that has jurisdiction over the Union Territory of the Andaman and 
Nicobar Islands. 

  The Calcutta High Court 

24.            73  74    
   ? 

  , 1992 

 When 73rd and 74th Constitutional amendments were passed by the Parliament of India 
for the existence of Panchayati Raj Institutions ? 

  December, 1992 

25.  1928           /   
 ? 

     

 Which among the following acts/bills were proposed by the Motilal Nehru Committee 
in the year 1928 ? 

  Bill of rights 
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26.            ? 

        

 Which one of the following is correct regarding larynx ? 

  It houses the vocal cords. 

27.         ? 

   

 Milk of Magnesia is which type of colloid ? 

  Sol 

28.                ? 

   

 Which of the following organic compound coagulates the protoplasm in the human 
body ? 

  Methanal 

29.               ? 

   

 Which of the following is the only Dwarf planet located in the inner Solar System ? 

  Ceres 

30.  ()                 ? 

    

 Which of the following acids is present in the stinging hair of nettle leaves ? 

  Methanoic Acid 

31. -             48   324     

 10      6 ,   10     8.5    
   10     5.5      10     7  
             ? 

 In the England-New Zealand one day match, due to rain, England needed 324 runs in 48 
overs to win. In initial  10 overs, the average scoring rate was 6, but in next 10 overs it 
increased to 8.5. It then declined to 5.5 in next 10 overs and again rose to 7 in next 10 overs. 
To win the match now what average is needed ? 

  6.75 

32.          ? 

 Which of the following is in descending order ? 
  9/13; 11/17; 5/8 
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33. 
0.0064

0.081
  

6.25

0.484
  

21.1

2.5     : 

 Square root of 
0.0064

0.081
  

6.25

0.484
  

21.1

2.5
 is : 

  0.45 

34. (8–1 – 9–1)–1  (4–1 – 9–1)–1    : 

 The value of (8–1 – 9–1)–1  (4–1 – 9–1)–1 is : 
  10 

35.      24%    15%            
    25%    20%          ` 10,736   
       ? 

 Divya spends 24% of her monthly salary on food and 15% on the education of her 
children. Of the remaining salary, she spends 25% on entertainment and 20% on 
conveyance. She is now left with        ` 10,736. What is the monthly salary of Divya ? 

  ` 32,000 

36.       -    ? 

   -  

37. ‘     ’          ? 

              

38.           ? 

  , ,  

39.          ? 

            

40. ‘  ’     ? 

    

41. Choose the antonym of underlined word from the given options : 

 He is very fastidious about his choice of food. 
  Careless 

42. Put the correct form of the verb : 

 I am the person who ________ to be blamed. 
  is 
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43. Which of the following spellings is incorrect ? 

  Aniversary 

Read the following paragraph and answer the following questions : (Q. 44 and 45) 

 India is marked by a diversity of physical features such as mountains, plateaus, plains, 
coasts and islands. Standing as sentinels in the north are the lofty snow-capped Himalayas. 
Him+alaya mean ‘the abode of snow’. The Himalayan mountains are divided into three main 
parallel ranges. The northernmost is the Great Himalaya or Himadri. The world’s highest peaks 
are located in this range. Middle Himalaya or Himachal lies to the south of Himadri. Many 
popular hill stations are situated here. The Shiwalik is the southernmost range. The northern 
Indian plains lie to the south of the Himalayas. They are generally level and flat. These are 
formed by the alluvial deposits laid down by the rivers – The Indus, The Ganga, The 
Brahmaputra and their tributaries. These river plains provide fertile land for cultivation. That is 
the reason for high concentration of population in these plains. 
44. World’s highest peaks are located in the ________. 
  Himadri range 

45. Northern Indian plains are rich in 
  Alluvial deposits 

46.     , ‘@’ ‘+’   , ‘⊕’ ‘–’   , ‘α’ ‘’     
‘θ’ ‘’     

 In a certain code language, ‘@’ represents ‘+’, ‘⊕’ represents ‘–’, ‘α’ represents ‘’ 
and ‘θ’ represents ‘’. 

      : 

 Find out the answer to the following question : 

 8900 α 100 ⊕ 5 θ 4 ⊕ 121 α 11 = ? 
  58 

47.            : 

 Find out the wrong number in the given sequence of numbers : 

 582, 605, 588, 611, 634, 617, 600 

  634 

48. 17 , 1998        ? 

   
 What was the day of the week on 17th June, 1998 ? 
  Wednesday 

49.  A + B     A, B   ;      A – B     A, B   ; A % B  
   A, B     A  B     A, B   ,      
   P, Q    ? 

 If A + B means A is the mother of B;      A – B means A is the brother of B;          A % 
B means A is the father of B and     A  B means A is the sister of B, which of the 
following shows that P is the maternal uncle of Q ? 

  P – M + N  Q 
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50.                I  II          

      ,               

            /        

          /   

  :            

  : 

 I.      

 II.       

     I    II     

 In the question below two statements followed by two conclusions numbered I and II 
are given. You have to take the given two statements to be true even if they seem to be 

at variance from commonly known facts. Read the conclusions and then decide which 

of the given conclusions logically follows from the two given statements, disregarding 

commonly known facts. 

 Statements : All poles are guns. Some boats are not poles. 

 Conclusions : 

 I. All guns are boats. 

 II. Some boats are not guns. 

  If neither I nor II follows. 

51.   ,                

                    

    ? 

 Recently, Shubhankar Sharma, Indian golfer has recorded the best result at the Open after 

finishing in tied-eighth position at the Royal Liverpool Golf Club in Merseyside, England. In 

which year he was conferred the Arjuna Award ? 

  2018 

52.           “    ” 
(ATFSG)          ? 

      

 Which among the following Government of India undertaken Corporation has become 

the first member to join “Asia Transition Finance Study Group” (ATFSG) ? 

  Power Finance Corporation Limited 
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53.   -20     ,       2024   
         ? 

   

 During the closing ceremony of   Startup-20 at Gurugram, India officially handed over 
the torch to which among the following countries for the year  2024 ? 

  Brazil 

54.     ()      ..           
, ,            - 
-        ? 

   
 Which portal is launched by Chief Justice of India (CJI) D.Y. Chandrachud that allows 

advocates, litigants, citizens to request QR code-based e-passes to enter in the Supreme 
Court of India ? 

  SuSwagatam 

55.   ,             3.5       
             (NCAP)     
NCAP      

      

 Recently, Union Minister of Road Transport and Highways Shri Nitin Gadkari 
launched the Bharat NCAP aiming to enhance road safety by elevating vehicle safety 
standards for up to 3.5-tonne vehicles in India. Give full form of NCAP. 

  New Car Assessment Programme 

56.            100       -
        ? 

   

 Indo-US task force has been set up to elevate trade in which of the following sector to 
$100 billion in next decade ? 

  Electronics 

57.    7     ‘’       ? 

   

 World’s first 7-minute cancer treatment “jab” to be rolled out in which country ? 

  England  

58.     “   ”         ? 

       01   23       60      
 What is the age limit for females in “Mukhyamantri Ladli Behna Yojana” implemented 

in Madhya Pradesh ? 

  Must have completed 23 years as on 01 January in the calendar year of 
application and less than 60 years. 
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59.     “   ”   PMI        
           “  ”  ? 

   
 Northeast Frontier Railway, bags PMI South Asia Award for “Micro Project of the 

Year”. This Project is “Instruction Detection System” to save life of which of the 
following animals ? 

  Elephant 

60.       (IAF)            
    

   
 Name the annual training exercise embarked by Western Air Command of Indian Air 

Force (IAF) recently. 
  Trishul 

61. “  ”       /     ? 

   

 “Maenam Wildlife Sanctuary” is situated in which of the following State/UTs of India ? 

  Sikkim 

62.        “ ”,   2021      
   ,              
 ? 

   

 “Ramappa Temple” located in Palampet village of Telangana state that was declared as 
UNESCO World Heritage Site in the year 2021, had been built during the rule of which of 
the following dynasties ? 

  Kakatiyan 

63.              ______    
     

   75 
 The Prime Minister and the other Ministers of the Indian Union are appointed by the 

President under ______ of the Constitution of India. 
  Article 75 

64. “”       /        
-   ? 

   

 “Koothu” is a socio-religious art performed in Koothambalam temple in which of the 
following State/UTs of India ? 

  Kerala 



 

 11 MN2_4923 

65. “   ”           ? 

  ,  

 The headquarters of “Central Institute of Indian Languages” is situated at which of the 

following places ? 

  Mysuru, Karnataka 

66. “    ” (OPCW)      ? 

 How many member states are there in the “Organisation for the Prohibition of 

Chemical Weapons” (OPCW) ? 

  193 

67.          ? 

   

 Which of the following is an official language of the Maldives ? 

  Divehi 

68. “”          ? 

   

 The “Pula” is the national currency of which of the following countries ? 

  Botswana 

69. “”                  

  ? 

    

 “Perungadai” is a work of epic proportion by Kongu Velir. It belongs to which of the 

following literature of India ? 

  Tamil Literature 

70.     1967           “ ”  

  ? 

     -III 

 Which of the following gallantry awards was renamed as “Shaurya Chakra” in the year 

1967 by Government of India ? 

  Ashoka Chakra Class-III 
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          : (. . 71 – 75) 
             ,        
    , ,             
                        
      ?       ?          
                    -- 
            

    ,                  , 
 ,      ,              
-                  , 
  , ,               
             ,        

                     
      ,   , ,  , ,    
  ,                     
                ,       
         ?         -       
          ? 

     -                  
-                    
 ,   -              -    
                         
    ?  -              ?     
,      

71.             ? 

   , ,           ,  
     

72.           ? 

            

73.          ? 

  -         

74.              ? 

  ,  ,       

75. ‘’  ‘’               ? 

      -  
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          (. . 76-80) 
            -           
                      
  ,               -          
                          
  -             - -  
         ,          
-           ,         
            -           
                    -, , 
 ,  , -                   
         -        -        
                     
                      
                         -   
            -             
                           
                      
                      
                        
        , ,                
             , , ,         
       
         ?        -  -   
                  ?      
      ?  ,                     
  , -                  
                         
                       
 ,          
76.        ?         ? 
                       

  

77.              ? 
  , , ,              

78.                 ? 
       -        
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79. -  -      ? 

     

80.      ? 

               

. 81-85 :           2020, 2021  2022    
-  , , , ,           ( ) 
    
Q. 81-85 : The given Line graph Data Interpretation Chart shows the sales of shoes (in thousands) from six 
stores in six different cities Kolkata, Patna, Dhanbad, Ranchi, Asansol and Gaya during three consecutive 
years 2020, 2021 and 2022 : 

 
81.                       

 ? 

 What is the ratio of the total sales of Patna store for three years to the total sales of Asansol 
store for three years ? 

  190/325 

82.                ,       
           ? 

 Total number of shoes sales on Gaya store and Patna store together for three years is 
approximately what percent of the total sales of Dhanbad store and Ranchi store together for 
three years ? 

  80.51% 

83. 2021   ,             , 2022  
 ,            ? 

 What percent of the average sales of shoes on Kolkata store, Patna store and Dhanbad store in 2021 
is the average sales of shoes on Ranchi store, Asansol store and Gaya store in 2022 ? 

  77.5 % 

84.  2020            2021         
     ? 

 What is the ratio of average sales of shoes of all the stores for the year 2020 to average sales of shoes 
of all the stores for the year 2021 ? 

  24/43 
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85.     ,               ? 

 What is the total number of shoes sales of Kolkata store, Patna store and Ranchi store together 
for three years ? 

  1650 

. 86-90 :       (A, B, C, D,  E)     (P, Q, R, S  T)  
    -                   
     -                
        

    = 1000  

            = 2  

              = 1.6  

Q. 86-90 : There are five inlet pipes (A, B, C, D and E) and five outlet pipes (P, Q, R, S and T) 
connected to a tank. The first pie-chart represents the percentage of the tank filled by each inlet pipe 
when all the inlet pipes are opened together and the second pie-chart represents the percentage of the 
tank emptied by each outlet pipe when all the outlet pipes are opened together. 

Total capacity of the tank = 1000 litres 

Time taken to fill the tank when all the inlet pipes are opened together = 2 minutes 

Time taken to empty the tank when all the outlet pipes are opened together = 1.6 minutes 
 

 

86.   A, B, D, R  S                 
  

  6.67  

 Find the approximate time taken to fill the tank if pipes A, B, D, R and S are opened together. 
  6.67 minutes 

87.       C        D          
     R        T         
     

 Find the ratio of the sum of the time taken by pipe C alone and time taken by pipe D alone to 
fill the tank to the sum of the time taken by pipe R alone and time taken by T alone to empty 
the tank. 

  7:9 
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88.  B  C            A, D  E       
       ? 

  1.67  

 The time taken by pipes B and C together to fill the tank is approximately how many minutes 
more than the time taken by pipes A, D and E together ? 

  1.67 minutes 

89.  P  R             Q, S  T      
         ? 

 What will be the ratio of the time taken by pipes P and R together to empty the tank to the time 
taken by pipes Q, S and T together to empty the tank ? 

  11:14 

90.                      
   

  8  

 If all the inlet pipes and the outlet pipes are opened together then find the time taken to empty 
the full tank. 

  8 minutes 

. 91-95 :               : 

 1, 2020  5      ,      ,   2, 2020  
2022     ,                
     

 :   =  +  –  

Q 91-95 : Study the table charts carefully and answer the questions given below : 

 Table 1 shows the Production, Export and Import of crude oil of 5 countries in 2020 while Table 2 
shows the percentage increase in Production, Export and Import of crude oil from 2020 to 2022. Study the 
tables and answer the questions : 

Note : Consumption = Production + Import – Export 

/Table 1 : 

 / Country  / 
Production 

 / 
Export 

 / 
Import 

 / 
Afghanistan 

2100 600 400 

 / 

Bangladesh 

1400 400 300 

/Bhutan 2000 800 400 

/India 2200 600 500 

/Maldives 700 500 1300 
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/Table 2 : 

 / Country  / 

Production 

  / 
Export 

 / 
Import 

 / 
Afghanistan 

20% 15% 18% 

 / 
Bangladesh 

25% 24% 22% 

 / Bhutan 25% 25% 20% 

 / India 22% 20% 15% 

 / 

Maldives 
24% 25% 22% 

91. 2020             ? 

 What is the average consumption of crude oil in each of the five countries in 2020 ? 
  1680 

92. 2022             ? 

 What is the average consumption of crude oil in each of the five countries in 2022 ? 

  2054 

93. 2020       -    ? 

 What is the export to import ratio of the 5 countries together in 2020 ? 

  1 

94. 2020  2022                  ? 

   

 The percentage increase in the crude oil consumption from 2020 to 2022, is highest for 

which among the following countries ? 

  Bangladesh 

95. 2022 ,        -     ? 

   

 In 2022, which country’s import to consumption ratio was highest among the following 

countries ? 

  Maldives 
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. 96-100 :                : 

   5000          40%  -  (A,B,C,D,E,F) 
        60%          , A, B, C, D, E 
 F               -      
                        
         
Q. 96-100 : Study the following table chart carefully and answer the questions given below : 

 Akshay has 5000 litres of pure milk. He sells 40% of the total milk to six different 
persons (A, B, C, D, E, F) and the remaining 60% of total milk he utilizes in his own shop. 
Each person, A, B, C, D, E and F mixes water in pure milk. The table given below shows the 
sales of milk to six different persons by Akshay as a percentage of total sales and it also 
shows the concentration of water after adding water in pure milk by each of the six persons. 

 

 / 

Person 

  
 / 

Sales of 
Milk 

   (   
   ) / The 

concentration of water 
(After adding water in 

pure milk) 

A 20% 20% 

B 10% 10% 

C 10% 15% 

D 10% 18% 

E 30% 25% 

F 20% 12% 
 

96.  A   C             ? () 

  65  

 What is the difference between the total quantity of water added by Person A and that of Person 
C ? (approximately) 

  65 litres 

97.  C          E          
   ? 

 What is the respective ratio of the total quantity of water added by Person C and the total 
quantity of water added by Person E ? 

  3 : 17 

98.            ( )   ? 

 Who among the following added least quantity (in litres) of water in pure milk ? 
  B 
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99.  , A, B  C                      ? 
() 

 Suppose, A, B and C mix their solutions in one vessel then what would be the concentration of 
milk in the new solution ? (approximately) 

  83.55% 

100.           ? () 

 How many total litres of water was added by all the persons together ? (approximately) 
  456 

 


